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GCSE Exam Questions: Unit Conversion

1)

(1)

(3 marks)

(1)

(1)

2) Aya is 1.71 m tall. Dara is 8 cm shorter than Aya.


How tall is Dara in metres?

Write down a sensible metric unit for each measurement.

(a) The height of a house.

(b) The mass of a person

(c) The capacity of a cup

(2 marks)

metres

3) (a) Change 6 litres into cm3.

(b) Change 5 cm2 into mm2.

(c) Change 108 km/h into m/s.

(6 marks)

(1)

(2)

(3)
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GCSE Exam Questions: Unit Conversion

(4 marks)

4) Use 1 stone = 14 pounds


1 pound      450 grams

John weighs 13 stones and 5 pounds.


How much does he weigh in kilograms?

kg
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GCSE Exam Questions: Topic Answers

Question Answer Marks

1) (a) Question in full
 Answer in full (1)
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GCSE Exam Questions: Unit Conversion Answers

Question Answer Marks

1) 



    (a)

Write down a sensible metric unit for each 
measurement.

The height of a house
 (a) (1)

4) Use 1 stone = 14 pounds

1 pound      450 grams

John weighs 13 stones and 5 pounds.

How much does he weigh in kilograms? Give 
your answer correct to 3 significant figures


(1)

    (c) Change 108 km/h into m/s.


 (c) (1)

    (b) Change 5 cm2 into mm2.

 (b) (1)

(1)

3) (a) Change 6 litres into cm3.
 (a) (1)

2) Aya is 1.71 m tall. Dara is 8 cm shorter than 
Aya. How tall is Dara in metres?


(1)

    (c) The capacity of a cup.
 (c) (1)

    (b) The mass of a person
 (b) (1)

,

Metres (m)

Kilogram (kg)

Millilitre (ml)

1.71 - 0.08 oe 
= 1.63 m

 6000 cm3  

5 × 102   

= 500 mm2  

 108 × 1000 = 108,000  

= 30 m/s  

13 × 14 + 5 = 187 pounds 
187 × 450 = 84,150 grams  

= 84.2 kg

(1)

(1)
(1)

(1)
(1)

(1)
,



Where to go next?
For more diagnostic questions, and GCSE maths revision resources and 
worksheets to support students in fixing any misconceptions take a look 
at the free Third Space Learning GCSE maths revision pages.



Scan the QR code to discover our library of FREE GCSE maths revision 
resources

Do you have KS4 
students who need 
additional support in 
maths?
Our specialist tutors will help students to develop the skills they need to 
succeed at GCSE in weekly one to one online revision lessons. Trusted 
by secondary schools across the UK.



Visit thirdspacelearning.com to find out more.
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